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Exercise 1. (4 points) Let S ⊂ κ be stationary and f : S → κ funtion so that
∀α < κ(f(α) < α). Then there exists S′ ⊆ S stationary such that f � S′ is constant, i.e.,
there is S′ ⊆ S stationary such that ∃γ < κ∀α ∈ S′(f(α) = γ).

Exercise 2. (4 points) Consider ω1 with the order topology and let f : ω1 → R be a
continuous function. Show that

∃α < ω1∀β > α(f(β) = f(α)).

Exercise 3. (4 points)

Let κ be a regular cardinal and B := P(κ)/Cub∗κ. Denote by [A] the equivalence class of
A ⊆ κ.

� Show that B is a Boolean algebra

� Given {Aα : α < κ} familiy of subsets of κ, show that
∧
α<κ[Aα] always exists and

it is equal to [D], where D is the diagonal intersection

D := {γ < κ : ∀α < γ(γ ∈ Cα).


